Higher Order Implicit Derivatives ... Set 1

Implicit differentiation--Second derivatives

2

For each problem, use implicit differentiation to find d—\; in terms of x and y.
1) x’=2y"+5 2) 5x+3y*=1

3) 5x°=5y" +4 4) ¥ +4y* =1

5) 3x2 42 =2 6) 5=4x" —4)°

7) 2=2x" -4y’ 8) x*+4)*=5

9) 2x—5)y" =3 10) 5x° =—4y” +4

11) 4x* =5)* +2 12) 3x*=-3y*+3
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Answers
D d’y  24xy* —ox* ) d’y 25 3 dy y'-x°
& 16)° Tt 36y di? 3
g2 _ 2 _ g4 g2 _2.,2 _ 0g+2 2., 2 _g.4
4) d ,; _ 48x) : Ox 5) d ;12 _ 3y : 9x 6) d ,; _ 12xy : Ox
dx 64y dx y Codx 4y
7 d*y _ 2}’-2 -x° 3) d*y _ —4y? e 9) & _ 1
dx* 4y° dx? 16)° d* 25)°
10) d’y —240xy* - 225x* " d’y 20y” - 16x° dy -y*-x

b 64 }?3 12) =

i’ 25)° D’ ?
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13) 5x° =4y” +4 14) 2x+y° =5
15) =2y* +2=3x 16) 5=4x-5)"
17) 5=x%-2)? 18) —4)% +4 =4

19) 5=2x -5y 20) 5y +2=5x"
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Answers
2, 240xy? — 2251 21 2.
Ly ontomst o dy 1y 9
dx 64y dx y T dx 16y
16) & __ 4 17 d*y _ 2y% — 2 5 d%y B _y? _x?
de 25}:3 dxz 4y3 dxz ‘}3
] 2., 1 ar?. s 2 _ .2
ax 25y dx y



